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Unit 6: Describing Data
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Consfruct a box-
and-whisker plot,

. First dot: Min

e First Line: Q1

o Middle Line:
Median

I8 Third Line: Q3

« last dot: Max

. Outier.
Q1 - 1.5{IGR}
Q3 + 1.5(IQR}

5. Using the data from #1 and 2, give the 5-number summcmes
Remember to label the ’rype of statistic,

Statistic " | Min Q| Med. | Q2 OK
Data | ) 34 1RyS | 53 \D% _
Data 2 SO 52 | S8 | (.S _
é. Consiruct 2 box c:nd whisker pIoTs Remember to label your
scdle.
. St 10k
& — o

a

25 45 55 LS IS g5 45 WS NS S

7; Are there any outliers? Show your workl \ICS‘ G‘?D +.S10R
10k i$ an cuHiec. B34+, S{H) =
8. Which data set had the highermedicxn?
B Q1R &¢

- 9. Which data set hos ihe greater IQR?

Set

10. Whic

set

data.set had the lower maximum?

11. In whaq!spcm of numbers did the top 50% of datfa fall in data

set 12 455 - ‘O(a

12. How would you describe the shape of data set 22
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Construct a
probability table.

s Joint Probability:
Individual
Celi/Table Total

o Marginal
Probability; Row
or Column Total/
Table Total

+ Conditional
Probability:
Individual
Celi/Row or
Column Total

Complete the table fc answer the following questions.

Footbail Basketball Soccer TM
Males 48 35 17 ICD
Females 22 38 40 IOZ)
Tl [0 | #3| 5% | 2w

13. What is the probability fhat a randomly chosen female likes

soccgr? Is this conditional, marginal, or joint frequency?

2 =409 Condrhnal

What is the probability that someone likes basketball2 Is this
conditional, marginal, or joint frequency2 .
wa

& - 36,50

Given that a person likes football, what is ’rgé probability they

14.

Find the line of best
fit.

s y=ax+b
e [ = correlation

coefficient (if

close to 0 bad fit;

if close to 1 or-1
good fit.)

15.
are male? Is this conditional, mcrgm;l(-iréfm’r frequency?
4D s C/OV\ L'h 0\(\
Y Price 400 | 550 | 3.50 | 800 | 550 | 7.00
¥X| #of sandwiches 68 55 |- 85 22 64 28
16. Determine the line of best fit. y =Mr -=968

s this model a good fit for the data?

Ves, vew) uivm@ p()&
covvela-tion
A. How many sandwiches would you ne or them to
be 2.00 each? Is this interpolation of extrapolation?

2,00 == 0Fx4+925 X= lo&
..,,“”1 25 = c@q"x

B. How many sandwicheswqu
be 500 eache Is ’rhlm’rerpolc’rlon br extrapoiation?

500= -.0Fx£9,25 X= é(fo?-»-
~428: ~.0%x You would ve
iou,ég

o+ leagt (ol sand
. What would you expect the price’per sandwmh to beif
, You bought 102
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17.
Cheeseburger 13 30
Cuartey Pounder 21 428
Cuarter Pounder with Cheese 30 830
Big Mac 3l 550
Arch Sandwich Special 31 3¢
Axch Special with Bacon 34 590G
Crispy Chicken 25 340
Fish Fillet 28 560
Grilled Chicleen 20 446
Crrilled Chicken Light 5 3005
Create a scatterplot using the table above.
600“\’
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Grams of Fat
a. Calculate the correlation coefflcnen’r What does it mean in terms of the data?

— Yere 18 o periul
=915 w%lmﬁuwm {? o and calong

b. Calculate the line of best fit. Describe the meaning of the porome’re $
= 1L 13 means

y = [1.438 x +{4395 "fhmera@vm%

1135 - i o 0t it st e L0 Gl

C. alories would a sandwich hcve ifit only had 3g of fatg [s this lnferpo afion or
Y= HF)"3(5) 19385 = 229,04 caloviey

d. How many colorles would a sandwich have if it has 23g of fat? Is |5|n1erpolo’r|on Q F extrapolation?

V= 11.32(23) 1 19233 = 463,04 pafoner

e. How many grcms of fat would a sandwich have if it has 750 calories?

760 = H?&‘x 985 o494,
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Determine if the
situafion has a

positive, negative,

or no correlation
and if there is
causation.

Positive: Both
items are

increasing/decre

asing

Negative: one
item increases as
the other
decreqses

No Correlation:
No relationship
Causation: One
ifem causes the
other.

For #18-21, describe whether you think the two variables would
have a positive, a negative, or no correlation. If there s a
correlation, is there also causation?

19. Colors of the Sky vs. Time of
Day

no COvre la—ha—

18. Practicing Free Throws vs.
Free Throw Percentage

Posiive.
V&  Causa-hon

21. Number of Followers on Twitter
vs, Number of Friends on

v Facebook .
"%M“'a(“““@ P@glﬁﬂ-

Ye5,Cansaton |y causation

20. Weight vs. Amount of
Exercise

22. Estimate the comelation coefficient and describe the
correlation based off the information from the graph.

Number of Hours of Exervise {Y) vg, Number
ot Months Machine was Owned (X3
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23. Bstimate the correlation coefficient and describe the
correlation based off the information from the graph.
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